Multiple Agency Fiscal Note Summary

Bill Number: 2469 S HB Title: Small works rosters

Estimated Cash Receipts

Agency Name	2019)-21	2021-	-23	2023-25	
	GF- State	Total	GF- State	Total	GF- State	Total
Office of Attorney General	0	150,000	0	298,000	0	298,000
Office of Minority and Women's Business Enterprises	0	105,000	0	189,000	0	168,000
Total \$	255,000	0	487,000	0	466,000	

Estimated Operating Expenditures

Agency Name		2019-21			2021-23			2023-25		
	FTEs	GF-State	Total	FTEs	GF-State	Total	FTEs	GF-State	Total	
Office of Attorney General	.5	0	150,000	1.1	0	298,000	1.1	0	298,000	
Office of Administrative Hearings	Fiscal r	Fiscal note not available								
Office of Minority and Women's Business Enterprises	2.0	1,320,342	1,320,342	4.0	2,389,055	2,389,055	4.0	1,856,134	1,856,134	
Department of Enterprise Services	.0	0	0	.0	0	0	.0	0	0	
Total \$	2.5	1,320,342	1,470,342	5.1	2,389,055	2,687,055	5.1	1,856,134	2,154,134	

Agency Name	2019-21				2021-23			2023-25		
	FTEs	GF-State	Total	FTEs	GF-State	Total	FTEs	GF-State	Total	
Local Gov. Courts										
Loc School dist-SPI										
Local Gov. Other	v. Other Non-zero but indeterminate cost and/or savings. Please see discussion.									
Local Gov. Total										

Estimated Capital Budget Expenditures

Agency Name	2019-21			2021-23				2023-25		
	FTEs	Bonds	Total	FTEs	Bonds	Total	FTEs	Bonds	Total	
Office of Attorney General	.0	0	0	.0	0	0	.0	0	0	
Office of Administrative Hearings	Fiscal r	iscal note not available								
Office of Minority and Women's Business Enterprises	.0	0	0	.0	0	0	.0	0	0	
Department of Enterprise Services	.0	0	0	.0	0	0	.0	0	0	
Total \$	0.0	0	0	0.0	0	0	0.0	0	0	

Estimated Capital Budget Breakout

Prepared by: Ramona Nabors, OFM	Phone:	Date Published:
	(360) 902-0547	Preliminary 2/10/2020

Individual State Agency Fiscal Note

Bill Number: 2469 S HB Ti	tle: Sma	all works rosters		Ago	ency: 100-Office General	of Attorney
Part I: Estimates						
No Fiscal Impact						
Estimated Cash Receipts to:						
ACCOUNT		FY 2020	FY 2021	2019-21	2021-23	2023-25
Legal Services Revolving Account-State 405-1	,		150,00	0 150,000	298,000	298,000
To	otal \$		150,00	0 150,000	298,000	298,000
Estimated Operating Expenditures fro	m•					
Estimated Operating Expenditures Iro		Y 2020	FY 2021	2019-21	2021-23	2023-25
FTE Staff Years		0.0	1.1	0.5	1.1	1.1
Account			4-0.000	4-0.000		
Legal Services Revolving Account-State 405-1		0	150,000	150,000	298,000	298,000
Account-State 405-1 Tota	1\$	0	150,000	150,000	298,000	298,000
The cash receipts and expenditure estimate and alternate ranges (if appropriate), are	explained i	n Part II.	most likely fiscal in	npact. Factors impa	acting the precision of	^c these estimates,
Check applicable boxes and follow con If fiscal impact is greater than \$50.			rrant hiannium a	or in subsequent hi	annia aamulata ant	ira figaal nata
form Parts I-V.	,000 per ns	scar year in the c	current otenmum c	or in subsequent or	enma, compiete em	ire fiscai note
If fiscal impact is less than \$50,00	0 per fiscal	l year in the curr	rent biennium or i	n subsequent bien	nia, complete this pa	age only (Part I)
Capital budget impact, complete P	art IV.					
Requires new rule making, comple	ete Part V.					
Legislative Contact: Michael Hirsc	h		P	hone: 360-786-71	57 Date: 01/	/28/2020
Agency Preparation: Michael Shinn	1		P	Phone: 360-759-21	22 Date: 02	/05/2020
Agency Approval: Diana Arens			P	hone: 3605869346	5 Date: 02	/05/2020

Gwen Stamey

OFM Review:

Date: 02/05/2020

Phone: (360) 902-9810

Part II: Narrative Explanation

II. A - Brief Description Of What The Measure Does That Has Fiscal Impact

Briefly describe by section number, the significant provisions of the bill, and any related workload or policy assumptions, that have revenue or expenditure impact on the responding agency.

Section 1 amends RCW 39.19.020 to add a definition of "debar."

Section 2 amends RCW 39.19.060 to require the Office of Minority and Women's Business Enterprises (OMWBE) to notify all state agencies and educational institutions in the lowest quintile of using minority and women-owned businesses as percentage of contractors or of dollar-value of awarded contracts, and to meet with the agencies to review plans for increasing participation.

Section 3 amends RCW 39.19.080 to remove paragraph (2) subjecting persons violating the chapter to penalties under RCW 39.19.090.

Section 4 amends RCW 39.19.090 to revise language regarding penalties available to the state. Imposition of penalties for violating RCW 39.19.080 are made mandatory, and options for penalties specified. Disqualification from participating in state contracts is made a mandatory penalty rather than permissive. Rulemaking for imposing penalties is required. An audit and review committee unit is created for detecting and investigating fraud under this act. The unit is provided with authority to take evidence, subpoena witnesses and require records be produced. A minimum of three percent of businesses awarded contracts under the chapter must be reviewed by the unit annually.

Section 5 is a new section. The section allows the director of OMWBE to apply for a superior court order approving and authorizing subpoenas in advance of issuance. Notice to investigated persons is not required prior to subpoena issuance.

Section 10 makes section 8 effective July 1, 2021.

II. B - Cash receipts Impact

Briefly describe and quantify the cash receipts impact of the legislation on the responding agency, identifying the cash receipts provisions by section number and when appropriate the detail of the revenue sources. Briefly describe the factual basis of the assumptions and the method by which the cash receipts impact is derived. Explain how workload assumptions translate into estimates. Distinguish between one time and ongoing functions.

Cash receipts are assumed to equal the Legal Service Revolving Account (LSRA) cost estimates. These will be billed through the revolving account to the client agency.

The client agency is Office of Minority and Women's Business Enterprises. The Attorney General's Office (AGO) will bill all clients for legal services rendered.

These cash receipts represent the AGO's authority to bill and are not a direct appropriation to the AGO. The direct appropriation is reflected in the client agencies' fiscal note. Appropriation authority is necessary in the AGO budget.

II. C - Expenditures

Briefly describe the agency expenditures necessary to implement this legislation (or savings resulting from this legislation), identifying by section number the provisions of the legislation that result in the expenditures (or savings). Briefly describe the factual basis of the assumptions and the method by which the expenditure impact is derived. Explain how workload assumptions translate into cost estimates. Distinguish between one time and ongoing functions.

Assumptions for the Attorney General's Office (AGO) Government Compliance & Enforcement (GCE)

division's Legal Services for Office of Minority and Women's Business Enterprises (OMWBE):

- 1. This bill is assumed effective 90 days after the end of the 2020 legislative session.
- 2. The AGO will bill OMWBE for legal services based on the enactment of this bill.
- 3. GCE provides both litigation support and legal advice to OMWBE.
- 4. This bill would amend chapter 39.19 RCW to increase utilization of OMWBE-certified contractors by public agencies in the contracting process and provides new processes for debarment from bidding on public contracts and for monetary penalty assessments. Additionally it creates a new audit and review unit within OMWBE and provides the unit and Director with certain investigative and subpoena authority.
- 5. Although this bill repeals two statutes that contain certain enforcement responsibilities for the AGO, this will not have any impact as the AGO has never acted under these statutes.
- 6. OMWBE assumes this bill will result in up to 7 new enforcement cases each year, beginning in FY 2021. GCE concurs with this assumption. Additionally, GCE anticipates up to 1 new administrative appeal each year.
- 7. The AGO assumes this new litigation generated by this bill will be document-intensive, and hearings would be scheduled for multiple days.
- 8. Based on past experience with the services expended in representing OMWBE in similar types of enforcement cases, and assuming an average of 6 new cases each year, GCE assumes that each new case will utilize 180 Assistant Attorney General (AAG) hours to litigate. Therefore, new litigation generated by this bill will utilize 1,080 AAG hours (6 x 180) in FY 2021 and each year thereafter.
- 9. The AGO assumes that the new investigative and subpoena authority granted to OMWBE under this bill will result in 10 hours of legal advice beginning in FY 2021 and each year thereafter. This bill will require OMWBE to engage in rulemaking. GCE assumes this rulemaking will be completed during FY 2021 and require 25 AAG hours of legal advice.
- 10. Total workload impact:

FY 2021: 0.62 AAG and 0.31 Legal Assistant (LA) at a cost of \$150,000.

FY 2022 and in each FY thereafter: 0.61 AAG and 0.31 LA at a cost of \$149,000.

Note: Agency administration support FTEs are included in the tables below, using a Management Analyst 5 as a representative classification.

Part III: Expenditure Detail

III. A - Operating Budget Expenditures

Account	Account Title	Type	FY 2020	FY 2021	2019-21	2021-23	2023-25
405-1	Legal Services Revolving Account	State	0	150,000	150,000	298,000	298,000
		Total \$	0	150,000	150,000	298,000	298,000

III. B - Expenditures by Object Or Purpose

	FY 2020	FY 2021	2019-21	2021-23	2023-25
FTE Staff Years		1.1	0.5	1.1	1.1
A-Salaries and Wages		97,000	97,000	192,000	192,000
B-Employee Benefits		33,000	33,000	66,000	66,000
E-Goods and Other Services		18,000	18,000	36,000	36,000
G-Travel		1,000	1,000	2,000	2,000
J-Capital Outlays		1,000	1,000	2,000	2,000
Total \$	0	150,000	150,000	298,000	298,000

III. C - Operating FTE Detail: List FTEs by classification and corresponding annual compensation. Totals need to agree with total FTEs in Part I and Part IIIA

Job Classification	Salary	FY 2020	FY 2021	2019-21	2021-23	2023-25
Assistant Attorney General	108,156		0.6	0.3	0.6	0.6
Legal Assistant 3	54,108		0.3	0.2	0.3	0.3
Management Analyst 5	88,644		0.2	0.1	0.2	0.2
Total FTEs			1.1	0.6	1.1	1.1

III. D - Expenditures By Program (optional)

Program	FY 2020	FY 2021	2019-21	2021-23	2023-25
Government Compliance & Enforcement		150,000	150,000	298,000	298,000
Division (GCE)					
Total \$		150,000	150,000	298,000	298,000

Part IV: Capital Budget Impact

IV. A - Capital Budget Expenditures

NONE

IV. B - Expenditures by Object Or Purpose

NONE

IV. C - Capital Budget Breakout

Identify acquisition and construction costs not reflected elsewhere on the fiscal note and describe potential financing methods NONE

Part V: New Rule Making Required

Individual State Agency Fiscal Note

Bill Number: 2469 S HB Ti	tle: Si	mall works rosters	S	Agen	Agency: 147-Office of Minority and Women's Business Enterprises		
Part I: Estimates							
No Fiscal Impact							
Estimated Cash Receipts to:							
ACCOUNT		FY 2020	FY 2021	2019-21	2021-23	2023-25	
OMWBE Enterprises Account-State 453-1			105,000	105,000	189,000	168,000	
To	otal \$		105,000	105,000	189,000	168,000	
Estimated Operating Expenditures fro	m:	FY 2020	FY 2021	2019-21	2021-23	2023-25	
FTE Staff Years		0.0	4.0	2.0	4.0	4.0	
Account							
General Fund-State 001-1		0	1,320,342 1,320,342	1,320,342 1,320,342	2,389,055 2,389,055	1,856,134 1,856,134	
Estimated Capital Budget Impact:							
The cash receipts and expenditure estima and alternate ranges (if appropriate), are			e most likely fiscal imp	oact. Factors impac	ting the precision of t	hese estimates,	
Check applicable boxes and follow co	rrespond	ing instructions:					
X If fiscal impact is greater than \$50 form Parts I-V.	,000 per	fiscal year in the	current biennium or	in subsequent bier	nnia, complete entir	e fiscal note	
If fiscal impact is less than \$50,00	00 per fise	1 1 1					
		cal year in the cur	rent biennium or in	subsequent bienni	a, complete this pag	ge only (Part I)	
Capital budget impact, complete F	•	cal year in the cur	rent biennium or in	subsequent bienni	a, complete this pag	ge only (Part I)	
Capital budget impact, complete F X Requires new rule making, complete R	Part IV.	·	rent biennium or in	subsequent bienni	a, complete this pag	ge only (Part I)	
	Part IV. ete Part V	·		subsequent bienni one: 360-786-715'			
X Requires new rule making, comple	Part IV. ete Part V	·	Ph		7 Date: 01/2	8/2020	

Ramona Nabors

OFM Review:

Date: 02/10/2020

Phone: (360) 902-0547

Part II: Narrative Explanation

II. A - Brief Description Of What The Measure Does That Has Fiscal Impact

Briefly describe by section number, the significant provisions of the bill, and any related workload or policy assumptions, that have revenue or expenditure impact on the responding agency.

This bill will increase the regulatory oversight and accountability by the Office of Minority and Women's Business Enterprises (OMWBE).

Section 2 (3) would require OMWBE to identify state agencies and educational institutions with low levels of participation by minority- and women-owned businesses in their public contracts, and to report on this annually. This would require OMWBE to implement new tracking software to track and identify spending in public contracting to meet the direction in the bill. To implement and manage the software and conduct the required reporting and subsequent activities, one temporary FTE and two permanent FTEs are required.

Section 4 (1) (a) states that if a person, firm, corporation, or business does not comply with a contract requirement the state may impose one or more penalties.

Section 4 (1) (b) states if a person firm, corporation, or business commits any of the prohibited activities in RCW 39.19.080, the state must impose one of the above mentioned sanctions. The fiscal note assumption is that two additional staff will be needed to satisfy these investigations and subsequent requirements.

Section 4 (1) (c) requires that if a penalty is imposed and then an entity willfully repeats violations, exceeding a single violation, OMWBE must disqualify the contractor from further participation in state contracts for a period of three years. The monitoring and enforcing of these violation and sanctions will require the above mentioned additional staff.

Section 4 (3) requires OMWBE to adopt, by rule, criteria for the imposition of penalties. This section allows the rule to incorporate the debarment process authorized for the Department of Enterprise Services in RCW 39.26.200. However, debarment activities would not be housed within OMWBE because there are existing processes in place outside of OMWBE more appropriate for this work.

Section 4 (4)(a) allows OMWBE to establish the investigative unit for the purposes of detecting and investigating fraud and violations of certification requirements. Per this section, the office must employ qualified personnel for the unit and must audit or visit at least 3% of businesses under this chapter per year. OMWBE has determined that the new staff should consist of two experienced investigators to conduct audits/investigations of certified firms who receive public contracts. OMWBE assumes each investigator would conduct 3-4 audits/investigations per year and that the agency would receive between 6-7 per year based on historical data. The number of investigations would likely increase over time as the number of certifications increase, consistent with the trends that OMWBE is seeing.

Section 6 clarifies that the OMWBE account (managed by the State Treasurer) will receive the civil penalties imposed under RCW 39.19.090 and will deposit receipts to this account. This account is for expenditures for defraying all or part of the costs of the office in administering this chapter (bill).

II. B - Cash receipts Impact

Briefly describe and quantify the cash receipts impact of the legislation on the responding agency, identifying the cash receipts provisions by section number and when appropriate the detail of the revenue sources. Briefly describe the factual basis of the assumptions and the method by which the cash receipts impact is derived. Explain how workload assumptions translate into estimates. Distinguish between one time and ongoing functions.

The fiscal note assumption is that a portion of the costs incurred by OMWBE will be reimbursed by the collection of fines from entities in violation. OMWBE assumes fines will first be assessed in FY 21. During FY 21 and FY 22, OMWBE estimates approximately 15 violations per year and subsequent imposed fines of not more than \$7,000 each for a total of \$105,000 for each of the first two fiscal years. For FY 23 onward the expectation is 12 violations per year for a total of \$84,000 per year. The slight reduction is anticipated from removing violating entities from contractual participation.

II. C - Expenditures

Briefly describe the agency expenditures necessary to implement this legislation (or savings resulting from this legislation), identifying by section number the provisions of the legislation that result in the expenditures (or savings). Briefly describe the factual basis of the assumptions and the method by which the expenditure impact is derived. Explain how workload assumptions translate into cost estimates. Distinguish between one time and ongoing functions.

OBJECT A & B

The Office of Minority and Women's Business Enterprises (OMWBE) estimates it will need 4.0 permanent staff members to carry out the requirements of the bill, plus a temporary IT Project Manager to help implement the new state agency public contracting and procurement tracking system.

Two of the permanent staff members (Management Analysts) will analyze and report on public contracting data, and assist with outreach to agencies and educational institutions. One of the Management Analyst positions would be filled in FY 2021, and the other would be filled in FY 2022.

The other two permanent positions (Investigators) would work in the new investigation unit. Both of these positions would be filled in FY 2021.

The total costs for staff (Objects A and B) are estimated at \$439,489 in FY 2021, \$574,064 in FY 2022 and FY 2023, and \$426,685 each year thereafter.

OBJECT C

2469 S HB would require OMWBE to incur IT costs to implement a new system to track public contracting and procurement. OMWBE estimates these costs at \$589,159 in FY 2021, \$325,583 in FY 2022 and FY 2023, and \$247,958 each year thereafter. Costs during the first three years would be higher due to expenses associated with implementation. The long-term, ongoing IT system expenses are due to annual license fees.

OBJECT E

OMWBE estimates that it will incur the following Object E costs related to the new FTEs: \$70,413 in FY 2021, \$89,764 in FY 2022, \$89,164 in FY 2023, and \$71,149 each year thereafter.

Additional Object E costs include \$20,000 per year in Office of Administrative Hearings (OAH), \$150,000 in Attorney General (ATG) costs in FY 2021, and \$149,000 in ATG costs each year thereafter. The anticipation is 6-7 hearings per year - the cost estimate is based on 6-7 hearings estimated at about \$3,000 per hearing. Due to the creation of the investigative unit, the number of hearings may increase in later fiscal years, but the potential increase in volume is unknown.

OBJECT G

Travel costs estimated at \$30,152 in FY 2021, \$33,788 in FY 2022 and FY 2023, and \$13,275 each year thereafter.

OBJECT J

The new FTEs will necessitate the purchase of new computer equipment and furniture. These costs are estimated at \$21,028 in FY 2021 and \$5,527 in FY 2022.

*See attached document titled "Cost Estimate Detail 2469 S HB - Revised" for additional information on costs described above.

Part III: Expenditure Detail

III. A - Operating Budget Expenditures

Account	Account Title	Type	FY 2020	FY 2021	2019-21	2021-23	2023-25
001-1	General Fund	State	0	1,320,342	1,320,342	2,389,055	1,856,134
		Total \$	0	1,320,342	1,320,342	2,389,055	1,856,134

III. B - Expenditures by Object Or Purpose

	FY 2020	FY 2021	2019-21	2021-23	2023-25
FTE Staff Years		4.0	2.0	4.0	4.0
A-Salaries and Wages		326,835	326,835	851,554	627,196
B-Employee Benefits		112,754	112,754	296,574	226,174
C-Professional Service Contracts		589,159	589,159	651,166	495,916
E-Goods and Other Services		240,413	240,413	516,928	480,298
G-Travel		30,152	30,152	67,576	26,550
J-Capital Outlays		21,029	21,029	5,257	
M-Inter Agency/Fund Transfers					
N-Grants, Benefits & Client Services					
P-Debt Service					
S-Interagency Reimbursements					
T-Intra-Agency Reimbursements					
9-					
Total \$	0	1,320,342	1,320,342	2,389,055	1,856,134

III. C - Operating FTE Detail: List FTEs by classification and corresponding annual compensation. Totals need to agree with total FTEs in Part I and Part IIIA

Job Classification	Salary	FY 2020	FY 2021	2019-21	2021-23	2023-25
Attorney	90,000		1.0	0.5	1.0	1.0
Contract Specialist 2	65,592		1.0	0.5	1.0	1.0
Investigator 3	71,756		2.0	1.0	2.0	2.0
Total FTEs			4.0	2.0	4.0	4.0

III. D - Expenditures By Program (optional)

NONE

Part IV: Capital Budget Impact

IV. A - Capital Budget Expenditures

NONE

IV. B - Expenditures by Object Or Purpose

NONE

IV. C - Capital Budget Breakout

Identify acquisition and construction costs not reflected elsewhere on the fiscal note and describe potential financing methods NONE

Part V: New Rule Making Required

Identify provisions of the measure that require the agency to adopt new administrative rules or repeal/revise existing rules.

Per HB 2469, OMWBE would be required to amend WAC 326-08 to include debarment as a reason for the procedures. There would also need to be a fines/sanction schedule, and rules governing the investigation unit outlined in Section 4 of the bill.

Cost Estimate Detail 2469 S HB - Revised

	Range/	Salary	Number									
Salaries: (A)	Step	Per Month	Needed	FY 2021	Needed	FY 2022	Needed	FY 2023	Needed	FY 2024	Needed	FY 2025
Investigator 3 - 10/1/2020	L	\$6,217	0.75	\$55,954	1	\$74,605	1	\$74,605	1	\$74,605	1	\$74,604.96
Investigator 4 - 7/1/2020	L	\$6,534	1.00	78,412	1	78,412	1	78,412	1	\$78,412	1	\$78,411.84
Management Analyst 4 - starting 7/1/2020	60/L	\$6,691	1.00	80,291	1	80,291	1	80,291	1	\$80,291	1	\$80,290.56
Management Analyst 4 - starting 7/1/2021	60/L	\$6,691	0.00	0	1	80,291	1	80,291	1	\$80,291	1	\$80,290.56
IT Project Management - Senior/Specialist - 7/1/20 - 6/30/23	484PM	\$9,348	1.00	112,179	1	112,179	1	112,179	0		0	
Total Salary			3.75	\$326,835	5	\$425,777	5	\$425,777	4	\$313,598	4	\$313,598

	Percentage	Number		Number		Number		Number		Number	
Benefits: (B)	of salary/rate	Needed	FY 2021	Needed	FY 2022	Needed	FY 2023	Needed	FY 2024	Needed	FY 2025
OASI	0.	062	20,264		26,398		26,398		19,443		19,443
Retirement (PERS employer rate)	0.1	286	42,031		54,755		54,755		40,329		40,329
Medicare	0.0	145	4,739		6,174		6,174		4,547		4,547
Health Insurance (\$916/mo)		976 3.75	43,920	5	58,560	5	58,560	4	46,848	4	46,848
Industrial Insurance											
Class 4902 - Office Workers		480 3.75	1,800	5	2,400	5	2,400	4	1,920	4	1,920
Paid Family Leave Insurance (Gross x .4% x .3667)	0.0	015	0	0	0	0	0	0	0	0	0
·										_	
Total Renefits			\$112.754		\$148.287		\$148.287		\$113.087		\$113.087

	Amount per	Number									
Goods & Services:	Employee	Needed	FY 2021	Needed	FY 2022	Needed	FY 2023	Needed	FY 2024	Needed	FY 2025
Supplies (EA)	\$600	3.75	\$2,250	5	\$3,000	5	\$3,000	4	\$2,400	4	\$2,400
Communications (EB)							0				0
Phone Line (Olympia area)	540		2,025	5	2,700	5	2,700	4	2,160	4	2,160
Switched Long Distance Service	125		469		625	5	625	4	500	4	500
Centurylink Voice Mail	42	3.75	158		210	5	210	4	168	4	168
Internet - VPN - One time set up fee	180		720		225	0	0	0		0	0
Internet - VPN Soft/Cert	108	3.75	405	5	540	5	540	4	432	4	432
Network/Desktop/Phone Support	3,500		0	0	0	0	0	0		0	0
Email, Vault license & Filtering	59	3.75	221	5	294	5	294	4	235	4	235
Vault Storage - 2GB per person	30	3.75	114	5	152	5	152	4	122	4	122
Other (cell phone, pager, etc.)	1,080	3.75	4,050	5	5,400	5	5,400	4	4,320	4	4,320
Printing (EF)	25	3.75	94	5	125	5	125	4	100	4	100
Training (EG)	1,000	3.75	3,750	5	5,000	5	5,000	4	4,000	4	4,000
Public & Historic Facilities (EK) (if new FTE)	252	3.75	945	5	1,260	5	1,260	4	1,008	4	1,008
Payroll Processing (EL)	240	3.75	900	5	1,200	5	1,200	4	960	4	960
Personnel Service Fee (EN-020)	0.0008		261		341		341		90		90
(% of classified salaries)							0				0
Personnel Labor Relations Fee (EN-010)	0.001										
(if a new Represented FTE)							0				0
Software Licenses (EY)	500	4.00	2,000	5	2,500	5	2,500	4	2,000	4	2,000
One-time Costs:							0		0		0
Phone Line/Data Cable Installation	300	4.00	1,200	1	375	0	0	0	0	0	0
Space Rent (ED)	5,956.50	4.00	23,826	5	29,783	5	29,783	4	23,826	4	23,826
Parking (EK) (Avg. Campus rate)	52.50	3.75	197	5	263	5	263	4	210	4	210
Small Agency Human Resources (EN)	1,630.96	3.75	6,116	5	8,155	5	8,155	4	6,524	4	6,524
Small Agency Financial Services (EK)	4,005.40	3.75	15,020	5	20,027	5	20,027	4	16,022	4	16,022
State Data Network (EL)	109.92	3.75	412	5	550	5	550	4	440	4	440
Enterprise Systems Rates (EL)	520.54	3.75	1,952	5	2,603	5	2,603	4	2,082	4	2,082
Security Gateway (EL)	592.06	3.75	2,220	5	2,960	5	2,960	4	2,368	4	2,368
Real Estate Services (EK)	44.37		166	5	222	5	222	4	177	4	177
DES Risk Management Fee (EP)	196.22	3.75	736		981	5	981	4	785	4	785
OFM Central Services (ER)	55.00	3.75	206	5	275	5	275	4	220	4	220
Total Goods & Services			\$70,413		\$89,764		\$89,164		\$71,149		\$71,149

	Number		Number		Number					
Professional Service Contracts: (C) Amount	Needed	FY 2021	Needed	FY 2022	Needed	FY 2023	Number Needed	FY 2024	Number Needed	FY 2025
External IT Consultant - 15 hrs/month x 12 months x \$275/hr + (extra 15 hrs first month to learn about project x \$275/hr)	0	0	1	53,625	1	53,625	0		0	
External Change Mgmt Consultant - 10 hrs/month x \$150/hr + (extra 40 hours to learn about project & develop plan x \$150/hr)	1	24,000	1	24,000	1	24,000	0		0	
Consultant - Mapping and Data Integration Services	1	100,000	0	0	0	0	0		0	
B2G Software Implementation	1	217,201	0							
B2G Software Annual Costs	1	247,958	1	247,958	1	247,958	1	247,958	1	247,958
Total		\$589,159		\$325,583		\$325,583		\$247,958		\$247,958

	Amount per	Number		Number		Number		Number		Number	
Project Manager Travel: (G)	Employee	Needed	FY 2021	Needed	FY 2022	Needed	FY 2023	Needed	FY2024	Needed	FY2025
75 days per year, \$151/day meals + lodging (low cost area rate)	11,32	5 1	11,325	1	11,325	1	11,325	0	0	0	0
Private Car Mileage							0		0		0
Mileage - 100 miles/day x 75 days x \$0.575 per mile	4,31	3 1	4,313	1	4,313	1	4,313	0	0	0	0
Misc Costs - \$25/day x 75 days	1,87	5 1	1,875	1	1,875	1	1,875	0	0	0	0
Airfare (10 flights estimated at \$300 each)	3,00	0 1	3,000	1	3,000	1	3,000	0	0	0	0
Total Travel			\$20,513		\$20,513		20,513		0		0

	Amount per	Number		Number		Number		Number		Number	
Management Analyst Travel: (G)	Employee	Needed	FY2021	Needed	FY 2022	Needed	FY 2023	Needed	FY2024	Needed	FY2025

10 days per year, \$51/day meals + lodging (low cost area rate)	1,510	1	1,510	2	3,020	2	3,020	2	3,020	2	3,020
Private Car Mileage							0		0		0
Mileage - 100 miles/day x 10 days x \$0.575 per mile	575	1	575	2	1,150	2	1,150	2	1,150	2	1,150
Misc Costs - \$25/day x 10 days	250	1	250	2	500	2	500	2	500	2	500
Airfare (1 flight estimated at \$300 each)	300	1	300	2	600	2	600	2	600	2	600
Total Travel			\$2,635		\$5,270		5,270		5,270		5,270

Investigator Travel: (G)	Amount per Employee	Number Needed	FY 2021	Number Needed	FY 2022	Number Needed	FY 2023	Number Needed	FY 2024	Number Needed	FY 2025
investigator fravei: (G)	Employee	Needed	F 1 2021	Needed	F 1 2022	Needed	F 1 2023	Needed	F1 2024	Needed	F 1 2025
15 days per year, \$151 per day (low cost area rate)	2,265	1.75	3,964	2	4,530	2	4,530	2	4,530	2	4,530
Private Car Mileage							0		0		0
1500 miles @ \$.575 per mile	863	1.75	1,509	2	1,725	2	1,725	2	1,725	2	1,725
Misc travel (parking)	375	1.75	656	2	750	2	750	2	750	2	750
Airfare (1 flight per year to Spokane)	300	1.75	525	2	600	2	600	2	600	2	600
Other Estimated Misc Costs	200	1.75	350	2	400	2	400	2	400	2	400
Total Travel			\$7,004		\$8,005		\$8,005		\$8,005		\$8,005

	Amount per	Number		Number		Number		Number		Number	
Equipment: (J) Desk System	Item	Needed	FY 2021	Needed	FY 2022	Needed	FY 2023	Needed	FY 2024	Needed	FY 2025
Desk System	1,887	4.00	7,548	1	1,887						
Desk Chair	500	4.00	2,000	1	500						
Side Chair	235	4.00	940	1	235						
File Cabinet	360	4.00	1,440	1	360						
Bookcase	300	0.00	0		0						
Laptop w/ LCD, Dock, Cable, Mouse, Keyboard	2,000	4.00	8,000	1	2,000						
Ergonomic Keyboard	50	4.00	200	1	50						
Security Lock	30	4.00	120	1	30						
Phone	195	4.00	780	1	195						
Total Equipment			\$21,028		\$5,257		\$0		\$0		\$0

Amount per Item	Number Needed	FY 2021	Number Needed	FY 2022	Number Needed	FY 2022	Number Needed	FY 2024	Number Needed	FY 2025
\$3,000 per hearing	6-7 hearings	20,000	6-7 hearings	20,000	6-7 hearings	20,000	6-7 hearings	20,000	6-7 hearings	20,000
	ATG estimate	150,000	ATG estimate	149,000	ATG estimate	149,000	ATG estimate	149,000	ATG estimate	149,000
	T									
		\$170,000		\$169,000		\$169,000		\$169,000		\$169,000
	Item	Item Needed \$3,000 per hearing 6-7 hearings	Item Needed FY 2021 S3,000 per hearing 6-7 hearings 20,000 ATG estimate 150,000	Item Needed FY 2021 Needed S3,000 per hearing 6-7 hearings 20,000 6-7 hearings	Item Needed FY 2021 Needed FY 2022 S3,000 per hearing 6-7 hearings 20,000 6-7 hearings 20,000 ATG estimat 150,000 ATG estimate 149,000	Item Needed FY 2021 Needed FY 2022 Needed S3,000 per hearing 6-7 hearings 20,000 6-7 hearings 20,000 6-7 hearings ATG estimate 150,000 ATG estimate 149,000 ATG estimate	Item Needed FY 2021 Needed FY 2022 Needed FY 2022 S3,000 per hearing 6-7 hearings 20,000 6-7 hearings 20,000 6-7 hearings 20,000 6-7 hearings 20,000 ATG estimate 149,000 ATG estimate 149,000 ATG estimate 149,000	Item Needed FY 2021 Needed FY 2022 Needed FY 2022 Needed S3,000 per hearing 6-7 hearings 20,000 6-7 hearings 20,000 6-7 hearings 20,000 6-7 hearings ATG estimate 150,000 ATG estimate 149,000 ATG estimate 149,000 ATG estimate	Needed FY 2021 Needed FY 2022 Needed FY 2022 Needed FY 2022 Needed FY 2024	Needed FY 2021 Needed FY 2022 Needed FY 2022 Needed FY 2022 Needed FY 2024 Needed

Total Request \$ 1,320,342 \$ 1,197,456 \$ 1,191,599 \$ 928,067 \$ 928,067

Individual State Agency Fiscal Note

Bill Number: 2469	O S HB	Title: Small wor	ks rosters	A	Agency:	179-Department of Enterprise Services
Part I: Estimat	es					
X No Fiscal Imp	act					
Estimated Cash Rece	ipts to:					
NONE						
Estimated Operating	g Expenditure	s from:				
Estimated Capital B	udget Impact:	;				
NONE						
The cash receipts an and alternate ranges	d expenditure es s (if appropriate,	stimates on this page rep), are explained in Part .	oresent the most likely fisc II.	cal impact. Factors in	ipacting th	ne precision of these estimates,
Check applicable b	oxes and follow	w corresponding instru	actions:			
If fiscal impact form Parts I-V.	is greater than	\$50,000 per fiscal year	ar in the current bienni	um or in subsequent	biennia,	complete entire fiscal note
	is less than \$5	0,000 per fiscal year i	in the current biennium	or in subsequent bio	ennia, co	mplete this page only (Part I
Capital budget	impact compl	ete Part IV		•		
Requires new r						
requires new r		imprete i urt v.		<u> </u>		
Legislative Contac				Phone: 360-786-		Date: 01/28/2020
Agency Preparation				Phone: (360) 407		Date: 01/29/2020
Agency Approval:	Ashley Ho			Phone: (360) 407		Date: 01/29/2020
OFM Review:	Jennifer N	/lasterson		Phone: (360) 902	:-0579	Date: 01/31/2020

Part II: Narrative Explanation

II. A - Brief Description Of What The Measure Does That Has Fiscal Impact

Briefly describe by section number, the significant provisions of the bill, and any related workload or policy assumptions, that have revenue or expenditure impact on the responding agency.

This Bill establishes procedures to enforce debarment and other penalties, for the Office of Minority and Women Business Enterprises (OMWBE) to implement against public works contractors providing for public works and/or goods and services that interfere with, or fraudulently obtain, certification as a minority or women's business enterprise. This Bill also adjusts the dollar thresholds for public works contractors to participate in the limited public works and small works roster processes.

Section 8 provisions of this Bill, directed at the Department of Enterprise Services (DES), does not change in this substitute Bill.

Section 8(1) increases the maximum amount for awarding contracts for the small works roster process to \$500,000, or less.

Section 8(2)(c) relates to inviting contractors that are part of the small works roster to bid on projects. DES' Engineering and Architectural Services program does not utilize this process, so there is not fiscal impact.

Section 8(3)(a) changes the maximum project cost threshold for awarding contracts under the limited public works process from \$50K to \$150K.

Section 10, new in this substitute Bill, sets an effective date of July 1, 2021 for the Section 8 provisions of this Bill.

The DES Engineering & Architectural Services program already has the capacity to administer both the small works roster and the limited public works processes. Changing the thresholds for maximum awards on these processes does not affect the cost to administer these processes. Therefore, this Bill has no fiscal impact.

II. B - Cash receipts Impact

Briefly describe and quantify the cash receipts impact of the legislation on the responding agency, identifying the cash receipts provisions by section number and when appropriate the detail of the revenue sources. Briefly describe the factual basis of the assumptions and the method by which the cash receipts impact is derived. Explain how workload assumptions translate into estimates. Distinguish between one time and ongoing functions.

II. C - Expenditures

Briefly describe the agency expenditures necessary to implement this legislation (or savings resulting from this legislation), identifying by section number the provisions of the legislation that result in the expenditures (or savings). Briefly describe the factual basis of the assumptions and the method by which the expenditure impact is derived. Explain how workload assumptions translate into cost estimates. Distinguish between one time and ongoing functions.

Part III: Expenditure Detail

III. A - Operating Budget Expenditures

NONE

III. B - Expenditures by Object Or Purpose

NONE

III. C - Operating FTE Detail: List FTEs by classification and corresponding annual compensation. Totals need to agree with total FTEs in Part I and Part IIIA

NONE

III. D - Expenditures By Program (optional)

NONE

Part IV: Capital Budget Impact

IV. A - Capital Budget Expenditures

NONE

IV. B - Expenditures by Object Or Purpose

NONE

IV. C - Capital Budget Breakout

Identify acquisition and construction costs not reflected elsewhere on the fiscal note and describe potential financing methods NONE

Part V: New Rule Making Required

LOCAL GOVERNMENT FISCAL NOTE

Department of Commerce

Bill Number:	2469 S HB	Title: Small works roste	ers						
Part I: Jurisdiction-Location, type or status of political subdivision defines range of fiscal impacts.									
Legislation I	mpacts:								
X Cities: Indeterminate decrease in costs due to expansion of projects to which the small works roster applies									
X Counties:	X Counties: Same as above								
Special Distr	Special Districts:								
Specific juris	Specific jurisdictions only:								
Variance occ	eurs due to:								
Part II: Es	timates								
No fiscal im	pacts.								
Expenditure	Expenditures represent one-time costs:								
Legislation 1	provides local option	:							
X Key variable	es cannot be estimated	d with certainty at this time:	Number of projects that will meet requirements for the small works roster						
Estimated reve	nue impacts to:								
None									
Estimated expe	enditure impacts to:								
Non-zero but indeterminate cost and/or savings. Please see discussion.									

Part III: Preparation and Approval

Fiscal Note Analyst: Alice Zillah	Phone: 360-725-5035	Date: 02/04/2020
Leg. Committee Contact: Michael Hirsch	Phone: 360-786-7157	Date: 01/28/2020
Agency Approval: Allan Johnson	Phone: 360-725-5033	Date: 02/04/2020
OFM Review: Ramona Nabors	Phone: (360) 902-0547	Date: 02/10/2020

Page 1 of 2 Bill Number: 2469 S HB

FNS060 Local Government Fiscal Note

Part IV: Analysis A. SUMMARY OF BILL

Provide a clear, succinct description of the bill with an emphasis on how it impacts local government.

CHANGES FROM PRIOR BILL VERSION:

The substitute bill adds a new Section 10, which specifies that Section 8 of this act takes effect July 1, 2021. This change does not affect the indeterminate nature of savings discussed below.

SUMMARY OF CURRENT BILL VERSION:

Sec. 1 amends RCW 39.19.020. "Debar" means to prohibit a contractor, individual, or other entity from submitting a bid, having a bid considered, or entering into a state contract during a specified period of time as set forth in a debarment order.

Sec. 8 amends RCW 39.04.155. Small works roster provisions to award contracts for construction, building, renovation, remodeling, alteration, repair, or improvement of real property apply to work with estimated costs of \$500,000 or less. Small works roster provisions to award contracts for work, construction, alteration, repair, or improvement projects estimated to cost less than \$150,000 may use the limited public works process provided under this subsection. Public works projects awarded under this subsection are exempt from the other requirements of the small works roster process provided under subsection (2) of this section.

B. SUMMARY OF EXPENDITURE IMPACTS

Briefly describe and quantify the expenditure impacts of the legislation on local governments, identifying the expenditure provisions by section number, and when appropriate, the detail of expenditures. Delineate between city, county and special district impacts.

The bill would result in indeterminate cost savings to local governments as a result of decreasing the need for competitive processes, by expanding the contracts which can be instituted under the small works roster (SWR). Because the cost of a competitive process varies depending on complexity, the cost savings cannot be estimated.

There is no data available to estimate how many public works projects (with costs up to \$300,000 currently) have used SWR process to hire contractors, nor is there data to estimate how many new projects ranging up to \$500,000 would include a SWR process per this bill. Generally, SWR bids are much less costly than formal competitive bids or "Design-Bid-Build" processes. For projects up to \$500,000, bids must be solicited from at least five contractors, and for projects up to \$150,000, bids must be solicited from at least three contractors. Additionally, local governments may assume liability for a contractor's nonpayment of goods and services, and may recover any payments made on a contractor's behalf for limited SWR processes.

C. SUMMARY OF REVENUE IMPACTS

Briefly describe and quantify the revenue impacts of the legislation on local governments, identifying the revenue provisions by section number, and when appropriate, the detail of revenue sources. Delineate between city, county and special district impacts.

The legislation would have no revenue impacts for local government.

SOURCES:

Local Government Fiscal Note HB 2722, 2016

Page 2 of 2 Bill Number: 2469 S HB